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I D C B A Questions / < Uly¥ A
! R ' LCMxHCF _ _, e x Fi it
| L ‘fl_;lum Secntid fbjl;% L A - (”’w Hidstyd |
S LCM | expression | HCF irst Expression T
L &, 1% S :tnuﬁ*uﬁfw:zr//,f 5
| Circle Quadrant Line Plane |Point on the axis do not lie in any:
g S s o il unp el ;
o Non Points which do @t Qg on the same straight line are
Zero Equal Collinear | collinear |calied: N
‘ —_
- Lartn n’h ar’h [g: :'4_“,(? fukGamsf L) 4
! 4 2 3 Volume of¢a right circular cylinder is:
[ i~ ;
o o 30 2 > L0 WAL
Volufrm{\of‘gf‘cube with edge ‘€’ is:
1 2 3 4 ¢ :%—JMJ’JJJEJ’CLU!:,‘)L w({f 6
The numLer of angle bisectors in a triangle is:
AN | Qumal | Qs AU eder nearf &S e
Right angled| Scalene | Equilateral | Isosceles |A triangle with no equal side is called _ triangle.,
: (AB)' = Ll
: Al 1 tal B A eSS 8
L g BA In'matrices (AB)' =?
| o FE X2 =
(-1} | (x| £ W) =l
Solution of x* =1 is: o
3 2 0 | . . e bstpnbahlalon g
A quadratic equation has a degree:
!
F = 2 5 & 15—PJ10>P. 15> 10 /1] 4
- If 15> 10 and 10> P then I5—P.
3 | 0 5 :wZ_,)LL/rPJ;UL&w' 12
‘ ’ The number of methods to find LCM are:
r
|
|‘ (a- b)* (a+ b)3 (a- b)2 (a+ b)2 a? +2ab+b% =7 13
W‘n’ 20 Ju‘i./;..ib"' Gossss Spnotd :Um,ﬁc_&ct_pd:.,/f('l/,,)w 14
‘ . Different | . Same |, T o
Order ‘n’ order | Order2 | order Surds can be multiplied, if they are of the:
: —
@+b | @-by | a’-b’ | a’+b a® +3ab(a-+b)+b> =? 15
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(Part~1 :
Write short answers to any SIX parts.

3.2
Find the lowest term of: %_25_
Xy

("')u.vlr. .
bgs) (BP0 2
60 74 F  202:10 0,
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e P L L xm | I P(x)=x*+3x2 =5x+9 /1 (iD)

If P(x)=x* +3x% =5x+9, then find P(x) forx= |,
Define surd, |
Factorize: x? + Xy

Factorize: a®+a-3g2 3

Define quadratic polynomial.

Find HCF by factorization: abxy , a%be

Find LCM by factorization; 2ab , Jab, 4ca

Find the square root of: 16x2 + 24xy -&-S)y2

Write short answers to any SIX parts,
Solve the equation: 5x —~6=4x -2
Define “Solution of Linear Equation”

Solve the inequality: ~3!-x > :‘]-(x -1)

Name the methods to solve a quadratic equation.
Solve: (x-3)*=4
Solve by using factorization method: 2x2 + | S5x~8=0

Define “Transpose of a Matrix” with example.
-4 1
5 4
Write the matrix in the form of lincar cquation; [-g

If B =[_3

3 :g] then find B!,

Write short answors to any SIX parts.

Define supplementary angle.

- 050

X ' ot

Define congruent triangles.

(e-Ssp)

I;
L]

Gl S G

x? + xy A Giv)

o’ +0-3a2 -3 :ZUd (v)

-iﬁ—é‘/ﬂf&?l%&/w (vi)

abxy , a%bc :ﬁrﬁ’f"l;b{.;)&dj (vii)

2ab, 3ab, dca tgler F1bannis . a(viih)

16x% - 24xy +9y? e e (%)
opr B Lingeds 3

SXx=0=4x=2 ik flunla (D)

‘Pl @y G

—:];x>-‘!‘-(x—l) S il 4 GiD

.ﬂ(t’éu.ﬂ!}ﬁi.fd’/wubd/m (iv)

(x=3=4 &S

2 415x=8=0 PR 0 (i)

Gy A J i (i

]{ 'J:&’u:.wm,("mpda.g"qué’q,,(viii)

it n"9n13=[j__§ :3]/’ (ix)

2Ty Cingedd 4
ik PSS 2 (D)
0 e S TE e S e, Gi

Write tho angle marked with letter. Also write
whether the angle is complementary or supplementary?
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Define angle bisectors of a triangle. .g,{..y/’chLug,uéw (iv)
Draw a semicircle with diameter 4cm and center at “O”. by BE SR 4 0", ()

e slusinbia cc=6lcb=5 .ﬁ{;p“’é”l/ffw,;l/lzfﬁ' (vi)
I'ind the third side of right triangle with legs a, b and hypotenuse ¢ whetherb=5,c =61,

Write the formula for the volume of a cone, .2 umur/ L/ (i)
Describe the location of point (3, 6 ) on the number line. <22 (3, 6) LU G (viil)
Find the distance between the pair of points: (7,-2),(~2,3) :g,’.:r}"‘.llww:éw (ix)

-w/OSLJ:yﬂ-gfd@ylzéwu:rJc.d[.ﬁ».p
Part - 11, Attempt any THREE questions, Each question carries 08 marks.

If x =+/5 +2 then find the value of x* +-)—(15-. -gf':()"‘;wfd, x? +;12—3’yr x=5+2 S () .5 R

Find LCM by factorization: x> +64 , x*-16 :g,{()’”j sl f sk (o) ¥

Find LCM by factorization: x> +y*, x'=y*, x®+y®  :ghednyd 23106505 (L) -6

Solve: ’—‘—2'7—2 - —’5-67—5- 2 %— X ; g __)5_5__5_ 2 %g{fd’ ()

Solve by completing square method: 2%} 4% +1=0 ,;fd"p@,.)&d/«,}'f () 7
(AB)' =B'A' J’{Z»::f,t"}’nB:[—“zl ‘3]:A=[3 g]ﬁ ()

If A = {-% gJ, B = {'21 ”8] then verify (AB)' =B'A’.

=~ .

x—3y=5; 2x=-5y=9 :;,;’-’.:d’c.,w,)é/.//u}’upnugul{z () -8
Solve the equation by Cramer’s rule method if possible:  x~3y=5 ; 2x -5y =9
tutvints et C B A on ¥ plig BUbsimBC = 4ememAB =3em UfU? ABCaBLL (&)

In a right triangle ABC, mAB = 3cm, mBC = 4cm with right angle at B. Draw a circle
through A, B, C.

P

LRSS 12 ARG T8 S8 50 LU L g S AL () 29
Find the area of a triangle whose sides are 50dm, 78dm and 112dm.

LA 2 51 C(=6,7) 51 B2, T) A6, 1)sBS et ()
Show that the points A(6, 1), B(2, 7) and C(- 6 , 7) are vertices of a scalene triangle.
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. Ordinate_; Numbers  Abscissa - Set o the plane with every ordered pair is associated:
v s ‘S’Cu‘v’u"‘(ﬂ'/td' 2

I - i
$ 18 a8 s ‘ L
1 CArea of square with side *8" is:
| | . | 3 B ntiaget 3
! ; The number of altitudes in a triangle arc: ‘
i i bt o AT - '
3600 270° 0 180t | vee , . e Prip K iy
‘ | : A straight angle contains: ;
WA pdabe | el edg | |
A ; (XS 1RT8) : AT (LY (s 3 . > -
‘.; 1 | VY vb,/" ¢ : A et ::;&vv{'.’/vﬂfu"g’b] 5
Scalar ; ld\,ntx'ty Column | RU‘? A matrix consisting of one row is called: .
. matrix Coomatrix Matrix o matrix Sy sy
! e i ' e
* e F¥ (N 2) =4
{2.6} {-6.-2} © {-6.,2} U S Y ), L 6
Solution set of (x - 2)° =4 is:
:.-:.C'.s:gub’:.m.»‘\}bv':/.:"-’..{l 7

)
<

ar equation in one variable is of degrec:

8,20 1 (8.2} e SEIX-31=5

1
Lt '051’-{-*;»“.—-: S F . !
PP, .._.,.'.,,.g"f‘....-! e =c—d-";:w e g

g..:i/,..’: i : o =lic -
Equal to .Less than ur:(n‘c:ucrtlmn{ Less than - The symbol < stands for:
o equal to_ [ Lor cqual N S—
] I : i BE e e <
Jgr 3pyrs ' 3pgr 0 USpags ' e el Opgr L dsgrs .
‘ g g HCF of 6pgr . [5qgrs is: ;
i i | ‘ & o ] , B
3 N R T R R e SR LLdpwg LT
; ! ! “The number of methods to find HCT is: B R
— l [ e
3 S 0 . S vl dnr )
; A cubic polynomial is of degree: . ;
SRR B s = :
; o | 0 WS S ot 3
A quadratic polynomial is of degree:
A ‘ i c 2 b
2 +b%) dab o gt bt —dab @+b)y +(@a-b) =7 14
, | ,
2 ! A4 ¢ o) el z
a?+b? 1 -dabo o dab {2t +b?) (2+b) —(a-b) =7 13
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Write short auswers fo any SIX parts. _eg\_u,y 7 ,3 Lz ié&(

ey =y e : y* = y® ] then find PC-2) S P(-2) 0 Ply) = yhe %y‘ A W

Lo -y o

simplify: TR oy A G

Rationalize the denominator: «{JF '::“..6;.;5’\‘:’&/" (iii)
V32

Factorize: x° 4y ~ 4% e 2xy % Xy d; {iv)

BEPSN IR (.\*fﬁ)fl‘(X)v~-'~l.\:4vH).\'"*I‘).Xr 54 W

1 P(x) = dxt i roxt C19s 1§ divided by (x 8 3 then find remainder.

Factorize: |- 343x° -3t g G

Write the names of methods to Tind HCE. LSl i Pl e o (i)

Find square root by factorization: 87 - 2xy + )'2 X -2xy+ yhigh e g i 8 A Vil
. it 2 Y 2 it ¢ :
Find LCM by tactorization: X"y, y*z , yz xz,\m LNYZ . xyx o \)“ fatsi S oF ok (IX)

Write short answers to any SIN parts, _éﬂ‘awﬁ/"" Lrlzugr;..gjf
Ji-t=10 Jx=1=10 EJS @

[x+2] =3 :$FES G

Solve:

Solve: [x+2] =3

5 7
Define linear equation, ey Mdated il

Solve by factorization method; I AN 80 L 15x-8+0 sE e G
Solve by factorization methods (2 ¢ 34N 2y a0 AN D=0 :ég\‘}«“;,{“‘-; &)
Define sealar matrixowith example. NECTY A PR O (%)
Find the matrix products: !-S i ; ,3" Ll AU (Vi)

’ _— . - ; 5 4N N o G s
Write the matrices in the form of tinear equations: {} _f}:}[ ]—.[ 5 @l e duiadorag f URGE (viil)

2 y 12
- ; _— . 25 g
Identify the given matrix is singular or non-singular: 14 Ll Al YL E ol (ix)
Write short answers tv any SIX parts. ..E'_‘_r_.,yy AE Ll A,"-‘-JJ(
Define concentric cireles, . {Ji’\!u’/hf/( )
Define adjacent angles. / -z-:-'f-"r‘-—i’/"u(u{!b'-w Gi)
Find the value of x in the given [fgure: < RVAW/S 5 A TN ‘{J' Gid
S0
Define cireumeenter of a triangle. EPST e Lake (V)

-

.a¥ 60° .,:m}s(/wl}-"fr 5 &gl L e by u».; Wil (V)
Draw an isosceles triangle with length of equal sides Sem and the angle included them is 60°,

(i) /—:
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FED -2 ~2 ot 0 SUSEE LA b s el IF5 AUIGAS L (vi)
Find iho hypotenuse of the right isosceles umnylc, each of whose legs is 7.
EEE 3 A 5 10 %/’LJ{,’,[”;J],,? S et AY S H L (i)

Find the volume of a block of wood whose length, breadth and height are respectively 10em, Sem, Jem.
EAS N (VR CYTH)

Deline cuboid,

Iind the distance between the pair of points: (2, 1), (4.3) (2.1).(-<.3): c,., o i s L bE (in)

-w/"OS L Jlr/_ //" w“;.«....,...’UlyuC c’.—dfl{’»,&?
Part - II, Attempt any THREE questions. Each question carries 08 marks,

: Ny =86 xy = -16 /e d Six-y)t () 5
Find the value of (x = y)? il x* + y! =86 and xy = =16
- = P
“Er ek e 0 x-2 P =387 R kx =26 1 (L)
If P(x)=3x" + kx - 26 is divided by x -2, find k if remainder is 0,

5 ~ ~ . ' i 2 K - 4 i e g . H ”
Find HCF by factorization: x* +x*=6x7 , x* =0x% | x' 57 —ox 12 S f s e L 6
. x-2 2 — i x-2 2 x-4
Solues 42 el R . B N
4 3 0 3 o il 2

- 164 J}"-"bur"/‘fd R ’3‘* saBes T 2 is () 27

bl S
s Lo

]. B :[*,3 ﬂthcn verify (AB)' =B'A'.

Find two consecutive positive even numbers such that sum of mcn squares is 104. )

(AB) =B'A' S it B:H 31]:1\ :ﬁ' _gjf; )

A =[

IN<-Sy=1:3x~Ty=2 :E S LIS Uil jm () 8

Solve the simultaneous equations by the matrix inversion method: 2x -8y = 1 3x -7y =2
S L - mZBAD =90° s mAD = 4. Sem mAB = 6.5em Ut Et ABCD S0 (L)

Draw a rectangle ABCLD in which, mAB = 6.5cm, MAD = 4.8em and mZBAD =90° .

Measure its diagonals.

Find the volume of a sphere with radius 3.5em. - 5 3.5 ks '"(‘: (- b‘.._/ () .

e DO, 1) 5 C(=2.5) 1 B4, -3) « AG . 4) WS e (L)

Show that the points A(5 , 4), B(4, =3) and C(=2, 5) are equidistant from D(1 . 1).
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